
          Sections 6.2 and 6.3 
I) Complete each equation to get a specific case of an addition or subtraction or double angle 

or half angle formula. 

       1) ?12sin5cos12cos5sin       2) ?
5

sin
10

3
sin

5
cos

10

3
cos 

   3) ?
)20tan()15tan(1

)20tan()15tan(









 

  

       4) ?)5sin()5cos()5cos()5sin(       5) ?)1
2

sin()1
2

sin()1
2

cos()1
2

cos( 
xxxx  

       6) ?10cos10sin2    7) ?5sin21 2     8) ?3sin3cos 22     9) ?1
2

cos2 2 
    

       10) ?
2

20cos1


 

   11) ?

14
tan1

14
tan2

2








   12) ?

5
sin

5
cos1








   13) ?
2

230cos1







 

II) Find the exact value for each expression. 
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III)     Given  0csc,2cot0tan,3sec   and    find the exact value for 
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IV) Use the addition or subtraction formulas to find the exact value of  tan,cos,sin and  
for the specified value of   
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V) Use the addition or subtraction formulas to verify the identity. 
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VI) Use half angle formulas to find the exact value for the following 
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VII) Use the double angle formulas to find the exact value for the following 
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X)     Use the double angle and the half angle formulas to verify the identity 
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XII) Evaluate the following using addition or subtraction or double angle or half angle 
       Formulas 
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XIV) Find the exact value of each expression 
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XV) Complete the following identities  
 

1)  4sin( )cos( )
3 6

    = 

2) 

3
tan( ) cot(6 )

2

2sin( )
2

  

 

  


= 

3)  

3
csc( )

2

sec( )
2

 

 





 

4)  
5 7

tan( ) tan( )
4 4

    = 


